G. The Dy, Groups

Dy | E Gi(2) G(y) Glx) i o(xy) o(xz) a(yz)

4, |1 1 1 111 1 1 x2, y?, 22

By|1 1 -1 -1 1 1 -1 =1 |R |xy

By | 1 -1 1 -1 1 -1 1 -1 | R | xz

B3, 1 -1 -1 1 1 -1 -1 1 R, | yz

Ay 1 1 1 1 -1 -1 -1 -1 xyz

B |1 1 -1 -1 -1 -1 1 1 |z 23, 2(x? — y?)

By | 1 -1 | S R | 1 -1 1 |y yz2, y(3x? — y?)

By, {1 -1 -1 1 -1 1 R | x x22, x(x2 = 3y?)

Dy, | E 2CG3 3G o, 253 3o, (x axis coincident with C3)

4 |1 1 1 1 1 x? + y?, 22 x(x? —3y?)

A 1 1 -1 1 1 -1 | R, y(?}x2 )

E' 2 2 -1 0 (x,» (x* = y2,xy) | (xz%, yz)

Ar 111 -1 -1 -1

Ay {1 1 -1 -1 -1 1]z z3

E" |2 -1 0 =2 1 0] (R,R) | (xz,y2) [xyz,z(x* — y?)]

Dy, | E 2C4 G, 2C) 2C) i 284 on 20, 204 (x axis coincident with Cj)

A, |1 1 1 1 1 1 1 t 1 1 x? + y?, 2

Ay | 1 1 1 -1 -1 1 1 1 -1 -1 | R,

Bg|1 -1 1 1 -1 1 -1 1 1 -1 X2 - p?

By | 1 - 1 -1 1 1 -1 1 -1 1 xy

E, 2 -2 0 2 0 -2 0 0} (R,R) | (xz,y2)

A 1 I 1 -1 -1 -1 -1 -1

A 1 1 1 -1 -1 -1 -1 1 1|z 23

By, 1 -1 1 -1 -1 1 -1 -1 1 xyz

Bu |1 -1 1 =1 1 =1 1 =1 1 -1 2(x? — y?)

E, |2 0 =2 -2 0 2 0 0] (xyp (xz2, yz2), [x(x? — 3y%), y(3x% — y?)]
Dy, | E 2Cs 202 5C, o Y] 253 5a, (x axis coincident with C3)
4 |1 1 1 11 1 1 1 x? + 2,22

4 |1 | 1 -1 1 1 1 -1 | R,

E| 2 2cos72° 2cosl4d® 0 2 2c0872° 2cos 144° 0] (x,» (xz2, yz?)
E; | 2 2cosl44® 2c0s72° 0 2 2cosl4d®  2cos72° 0 (x2 =yt xy) | [e(x? = 3y%), y(3x2 — y?)]
Af 1 1 1 1 -1 -1 -1 -1

A 1 1 1 -1 -1 -1 -1 1]z z3

E | 2 2c0s72° 2cosl44® 0 -2 —2c0s72° —2cosldd 0 | (R R)) | (xz,y2)

E} | 2 2cosl44® 2c0s72° 0 —2 —2cosld4® —2cos72° 0 [xyz,z(x? — y?)]
Dey | E 2Cs 2C3 G 3C) 3Cy i 283 2S¢ on 304 30, (> axis coincident with C,)

Ay |1 1 1 1 11 1 1 1111 x4y, 22

Az 1 1 1 1 -1 -1 1 1 1 1 -1 -1 ] R;

By 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1

By, 1 -1 I -1 -1 1 1 -1 1 -1 -1

Eg |2 1 -1 =2 0 2 1 =1 =2 0 0] (RoR) | (xzy2)

Ey |2 -1 =1 2 0 0 2 -1 -1 2 0 (2= y2,xy)

Ay 1 1 1 1 I 1 -1 -1 -1 -1 -1 -

A, 1 1 1 i1 -1 -1 -1 -1 -1 -1 1 1]z 23

Bul1 -1 1 -1 1 -1 =1 1 =1 1 -1 1 x(x? = 3y?)
By |1 -1 1 -1-1 1-1 1-1 1 1 -1 y(3x% — y?)

E, |2 1 -1 =2 0 -2 -1t 1 2 0 0] (x» (xz?%, yz2)

Ew |2 -1 -1 2 0 0 -2 1 1-2 0 0 [eyz, 2(x? = y?)]




The D, Groups (continued)
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